[ 1 1 =% = X BF B & 17TE B X 1 4 1 % €51 4 % =€ 6-2)
EiEtir #HEEARE /N

B

HE - EE-FNNEE - REMNATETEORESE Z DL IZERBFEEE
BEE EHE |t | F#r | B | 4F | 58 | KT | RE | AHE | EfE |(NEErewemn| 08 S | S2F | BT (| REX| V57| 175 | FHe ||gnwst| thit (&5t
EERERK 306 136 102 68 68 102 34 34 850
OB | 33 19 15 6 7 11 5 5 1 0 1 4 101 6 107
108 |ZEERFEL 42 22 12 11 7 11 3 3 0 0 2 1 111 3 114
118 |ZEErRFER 40 15 12 6 7 10 5 3 0 0 7 1 98 8 106
12H |ZEErFER 29 11 11 6 5 9 1 4 0 0 1 7 76 8 84
Rmvexor | 52 JitR B 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 2 HA [SEE R 144 67 50 29 26 41 14 15 1 0 11 13 386 25 411
FRFERFI 414 212 131 83 84 124 41 46 1 0 4 2| 1135 7] 1142
2 2 FE TDEMEFLK 269 127 95 58 57 81 26 31 5 0 22 27 744 54 798
2 2METOREE (%) 87.9% 93. 4% 93. 1%]|85. 3%|83. 8% 79. 4%|76. 5% 91. 2% 87.5%
RHIAKZEF : 1 2 AORAAKRERICEZEBALEFTZ L CREEEZERELIZED ERE=2FHFEF COEMEBR - IZEEERFH X 100
FHITEREE : 1 FHEICEENTADETEBSINTI-IZERE (=1ZFEEBERFHEIETE X H L) FERRE., EERESKRIE. NMNIE—RIESFEFTTET
[ 2 ]34 2 26 3 & 7 8% B X 2 4 1 %8 O 623
BT fHEE Ntk
HE -EE-ESNED - RSN FEEORMEE Z Dith BERBHESE
HFE = HE |t | E#% | BF 45 | 5% | KT | RE | AES | EfE |[NEEree=s) 88 2T (| BT (| REX |57 | 175 | FHe |suzet| bt (#8E&F
IEAERR R 315 0 175 0 105 70 70 0 105 35 0 0 0 35 910
9 A |[EMmEFI 33 22 15 6 7 14 3 6 1 0 1 1 106 3 109
108 |ZEERFE 40 21 15 9 9 13 3 3 0 0 2 0 113 2 115
118 [ZEEFE 36 19 10 9 8 9 6 4 0 0 7 0 101 7 108
128 |2 28 18 9 6 4 10 2 4 0 0 1 2 81 3 84
s tkseer | 52 Jifn B 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 = HA [SE 5 BF 3 137 80 49 30 28 46 14 17 1 0 11 3 401 15 416
FHEFTER 389 234 120 74 78 114 39 41 0 0 0 0] 1089 0] 1089
2 S EIFE THEMRFLK 271 158 97 55 59 86 26 31 5 0 20 6 783 31 814
2 I FETOEME (%) 86. 0% 90. 3% 92.4%(78. 6%|84. 3% 81.9%[74. 3% 88. 6% 86. 0%
RElAZEG . 1 2 AORBIAKREGSICEREAILEFTFZLCEXZERBRLIZLD ERFE=2FHF COEMBHR - IZERFRERFRH=xX 100
FHFTERFH : 1 EHEICEENMMTADHESIN-IZERFE (=1ZERBEBHREITEZHELY) FEREE., ERERIE. DMIE— (S FETTETR
[ 3 ) =4 2 % B % # 17 & 2 % 3 4 1 %8 O 6-2)
EETHir A/ EES
HE - EE-EFNEE - REMNUTETEORESE Z Db BEZEBREE
HEIE HEE |t | | BRE | 45 | 5% | T | RE | AT | EfE|(NEEree=)| 85 2T | B (| REX| V57| 175 | FHe ||suset| thit [#BE5
EERERK 245 70 175 90 0 60 60 0 105 35 0 35 70 35 980
98 |ZEMBEEH 28 7 22 9 3 4 14 2 3 11 5 1 0 1 1 108 3 111
108 |ZEREFE 30 12 21 11 5 10 10 3 3 9 2 0 0 2 0 116 2 118
118 [SEfabEE 28 9 23 13 5 3 8 4 4 4 3 0 0 7 0 104 7 111
128 |2 26 3 19 4 8 4 10 4 2 1 4 0 0 1 0 85 1 86
Rmsr | 52 iR BF L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 = Hp [ jits BF 3K 112 31 85 37 21 21 42 13 12 25 14 1 0 11 1 413 13 426
BT EREK 277 77 195 117 73 80 117 39 37 82 38 3 0 16 of 1132 19| 1151
2 SR E T D EMERFK 212 63 150 72 45 47 83 27 26 53 29 5 0 21 2 807 28 835
2FMETOERE (%) 86. 5%[90. 0%]85. 7%[80. 0% 75.0%])78. 3% 79. 0%[177. 1% 74.3%|175. 7%]82. 9% 82. 3%
E#iAZEzDd : 1 2 A0RHAKESICEEZEAEFZ L TCEEZEEZERLZLD ERE=2FHFEF COEMBR - 1ZEEXERFH X100

FHFTERY: 1 FHRICKRENTADEEEINI-IRERY (=FEEZRERFBEEIEZ LY ERE, EMRFRIE. ME—NIRAFEFTTERT




[ 4 1 =% =X R K&K 1TE BB X 4 £ 1 #8 (R A A% = 6-2)
EiE ST #ZEE /N
il - Bl - BRLED - RO E QRS Z Dih i ik S
BF % HiE (¢ [wx [w [£F[ax [ T [xE |8 [EE |[sEErees] as [F] g7 [REe]sS55] 7% [ %8 [snsn| fhit [wast
RIS R 245 90[ 175[ 105 o[ 60[ 60 o[ 105] 35 o[ 35 70 35 1015
9 A |EMEREH 22 10 17 12 6 10 17 5 3 4 4 2 1 1 2 110 6 116
108 |SEfs ks 24 9 19 12 12 4 8 4 4 17 2 1 1 2 1 115 5 120
118 |35 hs B8 25 13 15 10 9 4 9 2 4 12 4 1 1 7 0 107 9 116
128 |3 fi6 B 2K 30 5 20 7 1 2 10 3 2 4 2 1 1 1 0 86 3 89
stk | 52 fifR BF E4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
224 [sEpmeesse| 101  37]  71[ 41 28] 20 44 14 13 37| 12 5 4 11 3418 23| 441
F P ERE 280 100 202 112 70 69 120 38 40 77 42 35 5 12 Ol 1150 52| 1202
2 FHE T ORI 194 74 144 79 49 46 87 26 26 60 29 13 8 22 5 814 48 862
2EmECoRRE 6 79. 2%[82. 2%|82. 3%|75. 2% 81. 7%|76. 7% 82. 9%[[74. 3% 74.3%)[85. 7%[82. 9% 80.2%
EHARES 1 2 AORPAETICIEEEILTELE L CEEEEBLELD ERE=2FHF COEMIPR T IBEZERK X 100
FRTERHY : 1 FRCEENTIDIHE SN IBERYR (SEEEERKEFEILHLY ERRE. EMmEERIE. NME—fimE CCRix
[ 5 1=%%F R E R R EI1TE B X 5 & 1 #8 (B4 A% = 6-2)
EiEiir &R /INER
A - EE - FANEY - REMNOFEORRBSE Z D fth IRERHEE
BHE EHiE | #e | F B | 4F | T KT | RE | KF | BEE | SHEE e s | S5F | B |RER| 057|175 | HE [suwst| fhst [wast
AR R 175] _100] 175] 105 ol 50 50 60] 90] 35[ 70 o _70[ 35 1015
of |[=merg| 17] 14 17[ 10 5 6 6] 12 3 6 9 5 2 i 1 2| 110 6] 116
108 |=meessk] 20] 11 19] 12 11 6 4] 12 3 7 9 2 1 1 2 1 116 5[ 121
11H [SEpeeEsk] 23 9] 15 9 9 6] 10 6 4 9 6 1 1 1 7 of 107 9| 116
128 (=] 19]  1o[ 21 10 2 3 5 4 4 4 1 3 1 1 1 0 86 3 89
£ tr s ob | 52 it B 24 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
24 [Emmesse]  79] 44  72[ 41 27 21[ 25] 34| 14 26 25 11 5 4 11 3419 23] 442
EETERH 244] 127] 231] 134 69 65] 75] 112] 43| 92 91] 49 46 1 8 1 1332 56] 1388
2 FME T ORI 150] 83 134] 79 46] 40] 47] 74 27| 52 54] 30 13 8] 22] 1o 816 53] 869
2FMETOREE (%) 85. 7%[83. 0%[76. 6%[75. 2% 92. 0%[80. 0%[78. 3%[82. 2%[77. 1%[74. 3% 77. 1%[85. 7% 80. 4%
RYMAED 1 2 AORYPAEDPICTREBLEELZ L TREEZEELEZLOD ERE=2FHF COEMBHR AZEZERH =< 100
FRFTEBRK : 1 FHICHBENTIDIHESN-IBERY (SEEBRERBFKEEETI L) ERE, EmERIT. MNE_HMAF TR
[ 6 1 =4 = X BB E 1TE E X 6 & 1 #8 (R 4R = 6-2)
EiE sz R R /INFEE
BE - EE - BIE - REMNTFEDERMSE Z Dt EER RS T
BRE EHE (s [Fw (2 |47 |2 [T |[XeE | B [ B ||[sEEroes] s [2F] 57 [RE2][557 |78 | RE [anse| thet [wast
RIS R 175 105 175[ 105 ol 50 50/ 55| 90[ 35| 70 o__70[ 35 1015
of [=eeEsk| 17] 10] 19] 11 6 7 5 11 4 7 10 4 2 1 1 1 EEE 5[ 116
108 [Emmeszk] 21 11 17] 14 7 6 6] 12 3 8 7 3 1 1 2 1115 5/ 120
117 [=mess] 20 of 18] 12 3 2 7 9 5 8 8 3 1 1 9 1104 12 116
128 [=mmessk|  13]  10[ 17 6 4 2 5 8 3 5 4 3 1 1 1 0 80 3 83
wth s | 52 i B 2K 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
24 [sEmeesse] 71 40  71[ 43 20 17] 23] 40] 15| 28 29 13 5 4 13 3410 25| 435
ERTEER 230[ 133[ 223[ 138 67] 64[ 70[ 112] 46| 83 90[ 44 44 1 4 2] _1300 51] 1351
2 EME CORIEHK 140 76| 137] 81 37] 36] 46| 75| 28] 55 60] 29 13 8] 32[ 11| 800 64| 864
2EMETORRE (6 80. 0%[72. 4%[78. 3%[77. 1% 74.0%[72. 0%[83. 6%[83. 3%[80. 0%[78. 6% 85. 7%[82. 9% 78. 8%
R#HiIAZED : 1 2 ADRPUAREPICHREALEFLZ L CEREEZEBLELOD ERE=2FHFE COEMBRIFEZERM X 100

FHFTERY: 1 FHRICKRENTADEEEINI-IRERY (=FEERERFHREEIEZ LY ERE, EMRFRIE. ME—FSISAFEFTTERT




[ 1 1 =45 2OX B M E 1TE E R 1 £ =51 #A (R 4R = 6-2)
EiEmir A /NER
BEL - B - BALED - REMNLTEDEES Z Db 12 SIS B £ &1
BEE seer |[EZE |t | B4 | BR[| 4£F | % | KT | RE | A [ EE | SEE | 0w 88 | 25F | 937 [ RER (57| 75 | HE [sns| thit [Rast
sk | 136 | 238 136 68| 68 102] 34 34 34 850
98 |EMmE%K 14] 29 20 6 7 11 5 5 4 1 0 1 4] 101 6] 107
108 |EfErE% 16] 33 21 11 7 11 3 3 6 0 0 2 1 111 3] 114
118 |EfmEH% 19 31 14 6 7 10 4 2 5 0 0 7 1 98 8] 106
128 =M% 11 27 12 6 5 9 2 4 0 0 0 1 7 76 8 84
iz | 52 fih B 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 28 [ 60 120 67 29] 26 41 14 14 15 1 o[ 11 13 386 25| 411
FETERR 174 341 191 73] 80 112] 38 42] 40 1 0 2 2| 877 5] 882
2 FHE T DENFE 118 222 125 57] 56 81 26 30 29 5 0] 23] 26] 744 54] 798
2PMETORME ) 86. 8%[93. 3% 91. 9% 83.8%82. 4% 79. 4%]76. 5% 88. 2%[85. 3% 87.5%
RHAREDP . 1 2 AORAKREFIZCEEZHIZEEZLTEEZERBLE-LD ERE=2FHFTCOERBHR - IFERERHX100
FRFTERY : 1 EHICEENMTRADSITESINI-IBERYN (=FREBREBREIETIERELY FERE, EMREHIE. MNMIE—FRFETTETR
[ 5 1 =%& =X KB E 1TE B X 5 & =021 #A (3 5 4% = 6-2)
EiE T f#ERFE /N
A - B - ERER - REMNAFTORME Z D th 2 EBNEE
B = EE (s | B | 3R | 455 | S | KT | KE | 4F | EE [ NEE =] @S | 25F | B37 | RER| 05T |17 | BE |[wess| hit [wast
EAES R 175 90[ 170 95 0 50 50 50 90 35 70 0 70 35 35 1015
98 |EMmEMK 14 14 17 10 5 6 6 12 3 6 9 6 2 2 1 1 2] 110 6] 116
108 |EfEEs%k 20 9 17 9 11 6 4 12 3 7 8 2 8 1 1 2 1] 116 5] 121
1B |EfErE% 19 8 17 9 9 6 6 6 4 9 6 1 7 1 1 7 of 107 9l 116
128 |SEHERE%K 23 10 21 7 2 3 5 4 4 4 1 2 0 1 1 1 0 86 3 89
ok |52 fin B 4K 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 S HA | R 76 41 72 35 27 21 21 34 14 26 24 11 17 5 4 11 3 419 23| 442
FRFTERK 177 92] 195] 111 54 58 66 96 32 79 75 42 42 38 0 4 1 1077 43] 1120
2 M < DEIEFIR 145 78] 129 68 46 42 44 74 27 52 53 28 30 13 8 22 10[ 816 53] 869
2EmETORRE (%6 82.9%]86. 7%[75. 9%[71. 6% 92. 0%|84. 0%[88. 0%[82. 2%][77. 1%[74. 3% 75. 7%]80. 0%[[85. 7% 80. 4%
EHAED 1 2 AORPAREFICEREREFTEZ L CEBEZEBLE-LD ERE=2FHF COEMBR - IZLFTERM X100
FEHFTERY : 1 FRICEBENTRADEBESIN-IZERFN (= ZERBERRELITIE AT ERE, EMmBFHRIE. ME—NMAFETTET
[ 1 1 =& 2 X B B OE 1T E OBHE X 1 £ =2ov2 #A C 3 #8 £6 =t 6-2)
EiE ST i 5E FE /N Ak
BEl - B - SRR - RO DORES < D th 1% R BF I & 5T
BRI = EE [t | St [mn | 5% | B2 [XT |55 |45 | EE |[snEEreass] s [ x| By | RES[ 050 475 | 2k |[smwst | fhat [waat
IRERERF 272 0 136 0 102 68 68 0 102 34 0 0 0 34 34 850
O 8 |EERFEL 33 19 15 6 7 11 5 3 3 1 0 1 3 102 5 107
108 [ZEMErEH 40 19 12 11 7 11 3 2 7 (0] [0) 2 1 112 3 115
118 [ZEMErE# 38 15 12 7 9 10 4 2 1 (0] [0] 7 1 98 8 106
128 [ZEMEREE 27 13 11 6 4 9 1 5 4 (0] (0] 1 3 80 4 84
£ o 3 o0 | 52 i B 24 (0] [0] (] [0) (0] (0] [0] [0] 0 [0) (0] (0] (0] (o] (] (]
2 2 HA [SE i BF R 138 66 50 30 27 41 13 12 15 1 0 11 8 392 20 412
£F 51 % & BF &K 461 233 145 93 94 137 45 47 48 1 0 2 2|l 1255 5| 1260
2 SHAE T DEMEEFEK 253 125 95 59 59 81 25 27 27 5 0 22 21 751 48 799
2 NI TOEME (%) 93. 0% 91. 9% 93. 1%|86. 8%|86. 8% 79.4%|173. 5% 79.4%)79. 4% 88. 4%
BHRES : 12 AORMAEFICIBEEAERZL CIBREEZRBLI-LHD ERRE— 2P CO RN - IR EIE R < 1 O O

FRFER : 1 EHEICIBENITIDEHEBSIN/I-IBERR (CIFFBERRLEIETIEZELY EERKEE ., EMERFRIE. /M E —{ImFE T TERT




[ 2 125 & %8B % & 7T% 8K 2 4F =vv2 48 O30 4 3¢ 6-2)
EEmiir #EFFE/AINEE
BE - EE-SNEE - REMNTEETORBRSE Z Db FERBESE
HFE = EHfE (= | E8 | BHE | 4£F | S% | KT | RE | AT [Eff ||sEErae=n| 88 | 2F | B (|REX| 057|175 | FE |[wasit| thEit &5
EERERR 280 0| 175 0] 105 70 70 0] 105 35 0 0 0 35 35 910
9 A |[EMEF 33 23 12 6 8 12 3 5 4 1 0 1 1 106 3 109
108 [EErFE 37 21 11 9 7 13 3 4 8 0 0 2 0 113 2 115
118 |ZEEFE 35 18 10 9 10 9 6 3 1 0 0 7 0 101 7 108
128 |ZEaEFE 25 16 7 6 6 11 3 3 4 0 0 1 2 81 3 84
Rmtk | 52 iR B 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 S HA [SEhmRF 3R 130 78 40 30 31 45 15 15 17 1 0 11 3 401 15 416
F T ERK 468 236 142 91 92 141 46 48 48 1 0 4 0] 1264 5] 1269
2 FHFE THOEMIEEK 252 155 83 56 61 87 29 29 29 5 0 22 6 781 33 814
2FHFE TOEME (%) 90. 0% 88. 6% 79.0%]|80.0%[87. 1% 82. 9%[82. 9% 82. 9%(82. 9% 85. 8%
REIAKZES : 1 2A0RERKREFIIEREAEEZ L TCEEETZERLZELD ERFE=2FHFCOEMBHR - IZERFRERRHX 100
FHFTERFH : 1 EHICEENMMTADHEBESIN-IZERFH (=1ZERBEBHREITIEZHELY) ERE, EHEBFRIE. ME— A FEFTTERT
[ 3 1 ==& = X B ¥ E 1T E OB X 3 £ =2 #A I AR A% 6-2)
EiET T #EAFE/NER
HE - EE-FHINEE - RENTFEORME Z D th ZERBRMESET
HEE EfE | | 4 |8 | £F | S | KT | KRE |[AF | Ef [(fEEvmwmn|| 85 | SF (| B |RE|9S5T| 1758 | e |wusst| that |85
IR EESN 210 70] 175 90 0 60 60 o] 105 35 0 35 70 35 35 980
o8 [EEmBFE 26 9 18 8 4 6 15 2 3 11 3 3 1 0 1 1 108 3 111
108 |==fsrsik 30 11 19 9 6 6 12 3 3 9 1 7 0 0 2 0 116 2 118
118 =ik 28 9 21 12 5 4 8 4 4 5 3 1 0 0 7 0 104 7 111
128 |k 22 3 18 4 9 4 10 4 2 1 4 4 0 0 1 0 85 1 86
= tker | 22 i B B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
24 [SEpERFE] 106 32 76 33 24 20 45 13 12 26 11 15 1 0 11 1 413 13 426
F R TR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 80 F < D TR 108 32 78 33 24 22 45 13 12 26 11 15 1 0 11 1 419 13 432
2EMETORRE (%) 51.4%|45. 7%|44. 6%[36. 7% 40. 0%|36. 7% 42. 9%[37. 1% 34.3%[137. 1%[31. 4%[42. 9% 42.8%
REIAZESF . 1 2 A0RBAKREFICIEBEFEAEEEZ L TIREEERWBLI-LHLD ERE=2FHFE COEMBBFFEH -IZEEIZERFFEH X 1 00
FRFERE : 1 THICRBRENITZIADAEBSINI-IZERY (= ZEBERFHEITE X GL) ERRE ., EMBHIE. INMNEE—IiaaFEFE T TERT
[ 4 )] %4 2 % 8F 3 # 17 & B &% 4 = zvv2 #A (50 #8H 5¢ 6-2)
Exatir #HFAFE/NER
HFE - EE - SREE - RSN FEORBRSE Z Db EERRSE
HEE EiE | | F# (B |45 | 5% HT | RE |[AHE | EffE | SEE|vmw=n)| 88 | SF | BN |REX| V5T 17F | e ||wewst| ihit |#a8t
IEEREERRK 210 90| 175] 105 60 60 105 35 35 70 35 35 1015
o8 [EEimBEi 22 10 17 12 6 10 16 4 3 4 3 3 2 1 1 2 110 6 116
108 |2 fis B 3K 22 9 19 11 12 4 8 3 4 15 1 8 1 1 2 1 116 5 121
118 |SEhsrEsk 23 13 15 10 9 5 9 2 4 12 4 1 1 1 7 0 107 9 116
128 |ZEhEkF K 21 5 23 7 1 3 10 4 2 4 2 4 1 1 1 0 86 3 89
Emtksecr | 52 JitR B 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 Ul [SE R 88 37 74 40 28 22 43 13 13 35 10 16 5 4 11 3 419 23 442
F T ERFER 242 94| 200] 109 64 80 116 39 39 75 42 37 34 4 11 2] 1100 51] 1151
2 S F DB 175 73] 146 78 49 48 85 25 26 58 26 26 13 8 22 5 815 48 863
2FMETORERE (%) 83.3%|81. 1%|83. 4%|74. 3% 81. 7%/80. 0% 81. 0%[71. 4% 74.3%|82. 9%|74. 3%||74. 3% 80. 3%
REHiAZEG : 1 2 A0RHAKRESICIESEIEFTZ L CEEEZEHBLI-LD ERE=2FHF COEMBE T IZEIEERIK X100

FHRIFPERFH: 1 FRICEBRENMTRADEHE SN -IRERY (CIFERBERKREITIEZTLY ERE., EMBRFERIE. MME —NMAFETTERT




[ 6 1%F RBXBH & 17 F BX 5 & =ov2 #A (51 4 36-2)
By e ik

B - B - BALED - RANLGFEORME € D fth iR SR By S £y Bt
BHE Hiz (s [ E[@a [£F [ [T [xE [ #he [ E@E|[rEEeesl gs [ Ay [RE2[0S55[ 75 | % E [snws| it [wast
FERERR 140f 100f 175[ 105 50 50 60 90 35 70 70 35 35 1015
9f |EMRK 15 14 17 10 5 6 6 12 3 6 9 4 3 2 1 1 2 110 6 116
108 [SEhE K 18 10 18 11 11 6 4 12 2 7 7 2 8 1 1 2 1 116 5 121
118 [EER 22 9 15 9 9 6 10 6 4 9 6 1 1 1 1 7 0 107 9 116
128 [SEHEFRE 16 11 20 10 2 3 5 4 4 4 1 2 4 1 1 1 0 86 3 89
Eavser | 52 HiE B R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 A [E R BF K 71 44 70 40 27 21 25 34 13 26 23 9 16 5 4 11 3 419 23 442
FHEPFERY 178] 102 189 113 52 62 59 109 36 78 81 46 38 35 4 11 7] 1105 57] 1162
2 i T ORI 136 81 130 78 46 40 47 74 26 52 52 28 26 13 8 22 10 816 53 869
2 PIMFE TORRE (%) 97. 1%[81. 0%|74. 3%|74. 3% 92. 0%)80. 0%)78. 3%|82. 2%[ 74. 3%[|74. 3% 74.3%]80. 0%|[74. 3%
E#AZED : 1 2 AORPAEDICEEBLEL L CEEEERLE-LD ERE=2FHF CORMBR - IZEBERMX 100

FRITFTERE: 1 FRICERENTADSIHESINEERERY (=FEREXFHREEFEZALTLY) ERE, BRI, ME—GNAFEFTTERT




